



St. Louis County, Minnesota

Date of Report: 5/15/2025 1:08:04 PM

General Details

 Parcel ID:
 698-0050-00480

 Document:
 Abstract - 01505983

Document Date: 02/20/2025

Legal Description Details

Plat Name: LUDLOWS LANDING

Section Township Range Lot Block

Description: LOTS 48 AND 49

Taxpayer Details

Taxpayer Name TRANCHEFF PATRICK, ELLEN & LAURA

and Address: PREBARICH

4293 ARROWHEAD POINT RD

TOWER MN 55790

Owner Details

Owner Name TRANCHEFF ELLEN
Owner Name TRANCHEFF PATRICK

Payable 2025 Tax Summary

2025 - Net Tax \$12,081.00

2025 - Special Assessments \$85.00

2025 - Total Tax & Special Assessments \$12,166.00

Current Tax Due (as of 5/14/2025)

Due May 15		Due October 1	5	Total Due		
2025 - 1st Half Tax	\$6,083.00	2025 - 2nd Half Tax	\$6,083.00	2025 - 1st Half Tax Due	\$0.00	
2025 - 1st Half Tax Paid	\$6,083.00	2025 - 2nd Half Tax Paid	\$0.00	2025 - 2nd Half Tax Due	\$6,083.00	
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$6,083.00	2025 - Total Due	\$6,083.00	

Parcel Details

Property Address: 8243 GUSTAFSON RD, COOK MN

School District: 2142
Tax Increment District: -

Property/Homesteader: PREBARICH, LAURA L & MATTHEW P

	Assessment Details (2025 Payable 2026)									
Class Code (Legend)										
201	2 - Owner/Relative Homestead (100.00% total)	\$170,300	\$966,800	\$1,137,100	\$0	\$0	-			
	Total:	\$170,300	\$966,800	\$1,137,100	\$0	\$0	12964			





St. Louis County, Minnesota

Date of Report: 5/15/2025 1:08:04 PM

Land Details

Deeded Acres: 0.00

Waterfront: **VERMILION** Water Front Feet: 100.00

Water Code & Desc: W - DRILLED WELL

Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

Lot Width: 0.00 Lot Depth: 0.00

The dimensions shown are not guaranteed to be survey quality. Additional lot information can be found at

	In	nprovem	ent 1 Det	ails (RESIDEN	ICE)	
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finisl	n Style Code & Desc
HOUSE	2008	2,0	35	2,520	GD Quality / 941 F	t ² 1S+ - 1+ STORY
Segment	Story	Width	Length	Area	Fou	Indation
BAS	1	0	0	30	CAN	TILEVER
BAS	1	0	0	68	CAN	TILEVER
BAS	1	0	0	255	WALKOU	T BASEMENT
BAS	1	4	6	24	WALKOU	T BASEMENT
BAS	1.5	0	0	546	BASEMENT WITH	EXTERIOR ENTRANCE
BAS	2	0	0	512	WALKOU	T BASEMENT
CW	1	0	0	328	FOUI	NDATION
CW	2	10	14	140	FLOAT	TING SLAB
OP	1	5	8	40	FLOAT	ΓING SLAB
Bath Count	Bedroom Coun	t	Room (Count	Fireplace Count	HVAC
5+ BATHS	4 BEDROOMS		-		1	C&AC&EXCH, GAS
	lm	nroveme	nt 2 Dota	ils (ATT GAR	AGE)	

	improvement 2 Details (ATT GARAGE)									
I	mprovement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.			
	GARAGE	2008	600	0	600	-	ATTACHED			
	Segment	Story	Width	Length	Area	Foundati	on			
	BAS	1	24	25	600	FOUNDAT	ION			

	improvement 3 Details (DET GARAGE)									
ı	mprovement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.			
	GARAGE	0	72	0	720	-	DETACHED			
	Segment	Story	Width	Length	Area	Foundation				
	BAS	0	24	30	720	FLOATING	SLAB			

			Improveme	ent 4 Deta	ils (BOATHOU	JSE)	
lmp	provement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Des
E	BOAT HOUSE	0	1,20	00	1,200	=	-
	Segment	Story	Width	Length	Area	Founda	tion
	BAS	0	10	30	300	POST ON G	ROUND
	BAS	0	30	30	900	FLOATING	SLAB
	Bath Count	Bedroom Co	unt	Room C	Count	Fireplace Count	HVAC
	-	-		-		-	





St. Louis County, Minnesota

Date of Report: 5/15/2025 1:08:04 PM

		Improven	nent 5 Details	(LAKESIDE)					
Improvement Ty	pe Year Buil	t Main Flo	oor Ft ² Gross	s Area Ft ²	Basement Fini	sh S	tyle Code & Desc.		
	2010	43	0	430	-	С	ON - CONCRETE		
Segme	ent Sto	ry Width	Length	Area	Fo	oundation			
BAS	0	0	0	430		-			
Improvement 6 Details (@FRONTDOOR)									
Improvement Ty	pe Year Buil	t Main Flo	oor Ft ² Gross	s Area Ft ²	Basement Fini	sh S	tyle Code & Desc.		
	2010	29	0	290	-	ST	C - STAMPCOLOR		
Segme	ent Sto	ry Width	Length	Area	Fo	oundation			
BAS	0	0	0	290		-			
		Sales Reported	to the St. Lou	is County Au	ditor				
S	ale Date		Purchase Price	•		CRV Numb	per		
(05/2024	\$1,410,000	(This is part of a m	ulti parcel sale.)	ale.) 258788				
(01/2010	\$850,000 (\$850,000 (This is part of a multi parcel sale.) 192231						
(07/1995		\$110,000			105895			
(01/1955		\$0 102254						
		As	ssessment His	story					
Year	Class Code (<mark>Legend</mark>)	Land EMV	Bldg EMV	Total EMV	Def Land EMV	De Blo EN	dg Net Tax		
	201	\$170,300	\$922,300	\$1,092,60	00 \$0	\$	0 -		
2024 Payable 2025	Tota	I \$170,300	\$922,300	\$1,092,60	00 \$0	\$	0 12,408.00		
	204	\$177,700	\$785,800	\$963,50	0 \$0	\$	0 -		
2023 Payable 2024	Tota	I \$177,700	\$785,800	\$963,50	0 \$0	\$	0 10,794.00		
	204	\$149,700	\$653,800	\$803,50	0 \$0	\$	0 -		
2022 Payable 2023	Tota	I \$149,700	\$653,800	\$803,50	0 \$0	\$	0 8,794.00		
	204	\$141,600	\$593,100	\$734,70	0 \$0	\$	0 -		
2021 Payable 2022	Tota	I \$141,600	\$593,100	\$734,70	0 \$0	\$	0 7,934.00		
		1	Γax Detail Hist	ory					
Tax Year	Tax	Special Assessments	Total Tax & Special Assessments	Taxable Lan		e Building MV	Total Taxable MV		
2024	\$11,213.00	\$85.00	\$11,298.00	\$177,70	0 \$7	85,800	\$963,500		
2023	\$9,733.00	\$85.00	\$9,818.00	\$149,70	0 \$6	53,800	\$803,500		
2022	\$9,893.00	\$85.00	\$9,978.00	\$141,60	0 \$59	93,100	\$734,700		





St. Louis County, Minnesota

Date of Report: 5/15/2025 1:08:04 PM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.